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General Instructions :
1.  There are 31 questions in all.
2 Marks for each question are indicated against it.
3. All questions are compulsory.
4 Write the same question number as given in the question paper while answering the

question in your answer book.

5. (i) Answer to MCQs of 1 mark should be out of (a), (b), (c) or (d) only.
(i) Answer to each question of 3 marks should not exceed 60 words.
(iii) Answer to question of 5 marks should not exceed 120 words.

6.  Both the Maps should be attached inside the answer book.
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1.  In which country is Aswan River Valley Project located? 1
(@) India (b) Egypt
(0 USA (d UK
ST T o ufErs foRe <o o feerm @7
(a) WRd (b) foe
(¢) JUHET, (d) .
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2. Which one of the following techniques of soil conservation is the most suitable in
desert regions?
(@) Terrace Farming (b)  Strip Farming
(c) Shelter Belts (d) Crop Rotation
TEelE &5 | g1 & wier & forg frefafea § 9 s ugfa eifa suge
@72
(a) GEHA Tl (b) YRR Wl
(c) ==& e (d) & H

3. Identify the characteristic of Temperate Soft Wood Forests?
(@) Trees shed thick leaves in dry season.
(b) Rainfall is more than 200 centimeters.
(c) There are Conical shaped trees.

(d) There are low trees upto 60 meters in height.

I hicaei™d =i i fagioar &1 989 Hifau|
(a) Y6 dE| o U orot ufeat fiv €

(b) 200 W @ erferess aui Bt 21

(c) =8 YRy 981 1T S 2|

(d) 78T W 60 HIX ¥ fsr = a1t 987 B 2|

4. The 'Project tiger' was launched in which National Park?

(@) Nandadevi National Park (b) Kaziranga National Park
(c) Sunderban National Park (d) Corbett National Park
‘Yot TR’ Hl fRE U STH 9 3Ry e wan on?
(a) FSREr & ITH (b) TSI T SEM
(c) g T 3TH (d) e TN 3TN

5. Who was the founder of Marathi Newspaper 'Kesari'?
(a) Bal Gangadhar Tilak (b) Mahatma Gandhi
(c) Lala Lajpat Rai (d) Jawaharlal Nehru
TSt TUERYS ‘HE’ T TS i or?
(a) =T MR faetsh (b) HeTeAT et
(¢) el orsad aF (d) el g
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6.  Which one of the buildings is located in Kolkatta (Calcutta)?

(@) Gateway of India (b)  Victoria Memorial
(c) President House (d) Victoria Terminus
frafafed § @ S 9o7 Siaswar (Foha) o ferd 22
(a) e 9 31w sfrea (b) foerRIfEn dHifEe
(¢) Usgufd wed (d) foseifen g

7. Which one of the following facts is not correct about the biggest museum on
Gandhiji?
(@) It hasa very good collection of Gandhiji's writings.
(b) Its library has around 60,000 books.
(c) Itislooked after by Gandhi Smriti.

(d) The museum is located at Sabarmati Ashram.

frefafeaa & o s qe TSt @ g god o dueed % 9R H wEl
T 87

(a) TEH TS & @@l 1 9gd S HUE 2

(b) 9% T W T 60,000 T T

(c) SH! @@ TR Tgfa grr &t sl 2

(d) I TUEeE TeRAdt enem | fom ?

8.  Which of the following is a hurdle in promoting the spirit of common
brotherhood?
(@) To provide equal opportunities for education
(b) Empowerment of women
(c) Eradication of sex discrimination
(d) Discrimination on the basis of caste.
frfafea o @ sie wfafafy s s 9o S s § aiee gl 8?2
(a) Torenm & fou Tum ST YA AT
(b) wfeemsti 1 weIfRHL
(¢) feim 97 =1 =g
(d) Sfqma SgemE|
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9. Which subject is a part of the state list? 1

(@) Railways (b) Marriage and divorce
(c) Agriculture (d) e-commerce
+H a1 foma T g & efwla ST €2
(a) W (b) foame SR qems
(c) &f¥ (d) Z-wm"
10. The directly elected House of the Indian Parliament is called : 1
(@) Rajya Sabha (b) Lok Sabha
(c) Upper House (d) Vidhan Sabha
IR HHE & JAH ®9 ¥ e = B F el S @2
(a) TF & (b) < |
(c) SWI ¥ (TR BSH) (d) faum ma

11. Whatis meant by the term Resources? How does the utility and value of resources
vary from time to time and place to place? Explain with examples. 1+2=3

‘gaiEeE' 9 . U ©7 SHEEl # ST IR Hed 9Hd iR O %
TR Y S5 @d B2 IR0 Gfed T ifem)

12. How forisit correct to say that the vegetation cover is an important factor affecting
the formation of soil? 3

I% HEA Fel Tk Srad ¢ O IAEAld SRV I HY O H ThH HEwl
FRE T2

13. Highlight any two features of the trees found in the Mediterranean forests that help
them to retain moisture in the dry summer season. Name any two trees found in
the Mediterranean forests. 2+1=3

AR oA ° ™ S ot gal ot TRl 31 foRimarst &l 3SR &ifse
S 3% Yo W Bq W el oS § Heg idl €2 T oAl H U S ol
forl < g&fi & ™ fafew)

14. Describe three consequences of deforestation? 3x1=3

I 3TTERIEA & foh=l a9 aRome =1 avie sifsm)

15. "The 'Third Carnatic War ended the dreams of French Company in India'. Give
any three suitable arguments in support of the statement. 3x1=3

YA FAle® g§ 7 IR B HIEE! SO & WUl wfed @ &’ oo
IW & U H HIE dH SUYF qeh g
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16. "The British industries flourished at the cost of Indian industries. Give any three

suitable argument to support this statement." 3x1=3
fafewr s=ml 1 foshe ARATE 3TN oAl BT TgaTeRt 3TTl’ 39 He o §Heid
T HlE dH SUYH ah Qe

17.  Which British policy introduced by Lord Dalhousie created fear and resentment

among the Indian rulers and why? 1+2=3

e Solers g yfqurfed fwa fafesr Hifg 7 9rdia sraesl o w9 sik s
I R &R w=i?

18.  Explain any three provisions granted under the Right to Freedom of Religion. 3x1=3

aiftfer =l & ASR & 3wid fou U fe=l 99 wae o o
EAIEIY

19. Briefly explain the three different methods of ammending the Constitution of
India. 3x1=3
9RA o WOE W HINEA K H A e o wierw foeror G

20. Differentiate between the union list and the state list. What makes the union list
more important? 2+1=3
9 A a0 T Gl H AR T w9 g AT qeaqol = et
St 22

21. Why should adequate representation be given to the women in the Indian
Parliament? How can this be achieved? 3
IR wug | Afeensti &l gedifaa wfafifae @i fen s =nfew? =0 fom

Jeh . |h fehdT ST Tkl %7

22. C(lassify the resources on the basis of renewability. Distinguish between them.
Mention any two minerals that are recycleable? 1+3+1=5
TEAHTHOT & SMEN TG BT Sho] iU del 374 S T2 A
T T @fell w1 Seoi@ Hifey = qA: =fehd fhan S gerar 21

23.  What are Multipurpose River Valley Projects? Highlight any two advantages and

two disadvantages of these projects. 1+2+2=5

Tg3eRT A< =l RESHT o €2 e fRl < onedl qen < =i i SeR
HITST)

OR (3¥4d1)
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What is meant by soil erosion? Suggest any four methods to conserve soil from
being eroded. 1+4=5

T AR fhd Fed B2 Ja1 TG 1 Yok & fIq 18 =R S gemsy)

24. Why did the third anglo Mysore war take place? What was the reason for Tipu's
failure? Mention any three consequences of this war. 1+1+3=5

T ST HER g5 A g2 TEH Y I B F1 FN KR A2 g b
forgl i aRomel 1 Seer@ hife)|

25. How did the British policies destroy the Indian traditional industries? Explain. 5

AYST Ffaa 7 IR IRUe SE k! fhg YR T fowar? wa= wifsm)

26. Why did the revolt of 1857 fail inspite of planning for months? According to you,
what should have been done to make the revolt a success? 4+1=5

HEHl &1 A & FESg, 1857 1 fasis fawa i gam? o1 & 319K, faske
& RS I9H & A = foran S =nfeu en?

OR (¥4l
Why did the revolt of 1857 prove to be an eye opener for the British which compelled
them to take some corrective actions to re-established their authority? Explain. 5
1857 =1 Tagie AU & U foy YR T U@ Howh fag gen foem 3= ot
Tl IA: TAMd FH & 0 uR & /S HH SoM W ai=d fohanl’ =ame
hifeTy|

27. "Constitution of India is a multipurpose document which caters to our needs,
requirements and aspirations. Explain the statement. 5

‘UG 1 HfauH T TgSevdd UUF € S THN eevashasti qen ufeasr &6
aTUenatl Bl YU HLAT B1' TH HUA i AT Ty

28. How does Indian secularism work in the context of the following statement? To
respect the sentiments of all religions the government sometimes makes
certain exception for a particular community." Explain with the help of any
two examples. 5

T fu U we & Hed ¥ wrdy g 9w w22 9ot umt wt
OIS 1 T & & g wefi-w+dt TR fedt fafte aqsm & fau %8
Y %A Sl € S 319ers 21 Tl <SSl i WerEdal ¥ SHe! oA
Hifeq|
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29. How does a bill introduced in the Parliament become a Law? Explain the

procedure. 5
gag | wga fa T wE fades fRe YR A aFar @2 39 e
AT hifed|

OR (3¥dI)

What are the minimum qualifications to be a member of Lok Sabha? How is Lok

Sabha constituted? 2+3=5
ARG HT TG o 1 AT AT 1 T2 ARH T TS R YRR
T 82

30. (i) Twofeatures A and Bare shown in the political outline map of India. Identify
these features with the help of following information and write their
correct name on the lines marked on the map.

(A) The place from where Nana Saheb led the revolt of 1857.
(B) The place from where sepoys broke out into open revolt.
(i) Onthe same political map of India locate and label the following place :
(C) The place to which Van Gujjars belonged : Punjab 3x1=3
(i) 9Rd % @1 AEfaT R I AG0 A qen BI9T ¢ E) = § W g &
R W 3= Y= qe 39 Tel A4 & 7 Yensti W fafed -
(A) T8 STE SRl o 1 @ifed 3 1857 & fagie &1 g fam
(B) o o el ¥ fawfeai 3 gen foagie Ry fwam
(ii) feu W so gEfas W fefafea o ifea wifSw 9en 9t T\ ot
farfe-

(C) 9% TIM W&l a1 ook ®d o : ol

For visually impaired students in lieu of Q. No. 30

W W 30 &% M W e sifa faenfda & fau defeus wom
(A) Khonds belong to which place?

(B) Tantiya Tope led the revolt of 1857 from which place?

(C) Shahenshah-e-Hindustan ruled from which place?

(A) T & o & ¥ Frafed ©?

(B) difqan 2™ = 1857 & faxig &1 "Ag fove Toe & foran?

(C) IEWME-U-fegem fhe e 9 TF & 97
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31. (i) Two features A and B are shown in the political outline map of the world.
Identify these features with the help of the following information and write
their correct names on the lines marked on the map.
(A) Desert area of Africa having low rainfall
(B) A type of forest
(ii) On the same political map of world locate and label the following items with
appropriate symbols.
(C) One region of low rainfall in Australia
(D) One region of Temperate Softwood forests in North America. 2+2=4

(i) TUR & @ AAfIT R I A A 991 B I T & A= W g &
JMYR W 3= TEAT a1 39 T& 9 1 8 W@nsti | fafau)
(A) TSI o1 HEEIATT &5 SEl %8 oo gidl &l
(B) @i &1 Th FhR

(ii) ST U & "mfes W FAfatea aeen s Suge fasi g sifeha ity
agn 39 M fafem)
(C) steferan o &1 a9l el Teu
(D) 3T 7RI | Ypud a arel y=wl

Alternative question for visually impaired students in lieu of Q. No. 31

W ¥ 31 &% WM W e i faenfda & fau defeus g

31.1. Name that part of Australia which has low rainfall.

31.2. Name any one area of high rainfall in Africa.

31.3. Name two trees commonly found in Tropical Evergreen Forests.
31.4. Name two trees commonly found in Temprate Softwood Forests.

31.1. SEfera & 39 WM &1 99 fafey S %9 au el 2|

31.2. STHTRT & fohe W o etferes ool oo & 9@ a1 22

31.3. SWThicHET TR BRA a9 H AWra: Ao ae fe=l |1 Usi @1 9™
forfem|

31.4. Yo Hfedeia a=f § 9w = ot foh=l < usf & AW fafem)
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Roll No. (3THIeh) India-Political (¥RA-TsT-feh)
Map for Question No. 30(a) [X.9. 30 & forq AFfes]

VIII-SOCIAL SCIENCE (9)



VIII-SOCIAL SCIENCE



Roll No. (3THIeh) World-Political (FHR-TsT-feh)
Map for Question No. 31 [9.8. 31 & fau AMf=]

VIII-SOCIAL SCIENCE (11)



VIII-SOCIAL SCIENCE



